
 

Chapter 6 Dilution

Dilution Formula Cill Czyz
Mill Matz
F molarity Concentration

Ex

How many who of a 1.73511 solution of
43704 are required to make 350 web

of 0.625 I
y Cave3 out of 4 variables

Solve equationTable or List
EX CatC 1.7 35M1 or mots u r

C
Y ML e

0 625 noisy
same

V2 350 uh
11 GYI

Plug in values solve

11 494511
301111 1261880691 uh

4

4713515 71



A reaction requires 320 ml of a

0 175 M solution of nitric acid Hmos

In the stockroom you find a bottle
of 6.72581 ANOz How many uh

of the 6.725 myHmo are required Yetsion

to make the 320 uh of 0 175M
HMOs

C 6.7251 HNO3

Y

320 my

CI
Cz 0 1751

v Eit

V 8 3247137 mh.HNOz

8.33kt



Ex what is the resultingmolarity when
6 72mL of a stock solution of

10.621 sulfuric acid is diluted to
a final volume of 125mL

C 10.621
11 6.72mL

Cz

V2 125mL Cz City

Ca
GO.kz

jIfmm 0.5704311

IO 5711owoy.az

IConclusionChapter



Chapter
Balancing Chemical Equations

Classifying Chemical Reacts
DoubleDisplacement
SingleReplacement
Combination I covered in LabDecomposition
Combustion

Acid Base

Stoichiometry with reactions stoichiometryRoadmap

Reaction Yields

BalancingchemicalEquations

att t bB c C t dD
g s s s
Lower case are coefficients
Equations are balanced with Coefficients

ELITE
Coefficients Molar Coefficients



Alz Coz atomic molarRatios

EJ
subscripts

gigolar
1 The subscripts tell us how many atoms

of each element are in the compend or

molecule
46.022

1023

The subscripts also tell us how many
moles of atoms are in each male of
Compound or molecules

Balanced Chemical Equation

3 NazCOs 2 AlCI AL COD 6NaCl
w a

Either singular atan.FI eular ratios
Molar Ratios molesofmolecules

Reactants Products
Na 3 2 6

C 3 1 3 C 1 3 1 3

1O 3 3 9
Al 2 1 2

Al 1 2 2
Cl 2 3 6

Cl 6 1 6

I D



RulesforBalancingge
1 You may only changeCoefficients

never subscripts

2 start left to right balancing any element that
does not appear more than 3 times in the
reaction

3 Save diatomic monatomic elements for last
dime Hofbrind Hz Oz FzBrogna Cleor

Brindhof HO FB I NCI
monatomic Na K Fe Cu

4 You may use a fractional Coefficient
to gain an odd number of a diatomic

3 02 3 0 You must clear the

fraction at the end

By following the rules you
should be able

to balance any equation in this class in

4 steps or less More than 4steps Likely
made an error



y
save for last

HCzHzQ 232g Egg theres
H 212 4H 4

c z r f c 1 2 2

O 31Last 0 4 6

24121
62 2 2

2 4 6

IT
tool tobalance

2ft p EEE Egg
c 43

H 8

z w
Hy É
o 3 7 10

Ex X 9

No fractionalCoefficients

2Cztt0t9g 6C0zt8Hz0



TypesofchemicalReactions

AÉ p ID C'B DoubleDisplacement

3NaOHq Feclzy 3Maclay FeOH

AFTER AC singleRepacement

In 21MHz t Inclzcap
E

A B t C D Decomposition

Has Heat CO2

A B C D Combination

2Heat Oz 2 H2O



Combustion Reaction

HyQS mm Of cozthggsthhsossiblecmbinat.me
oxygengas

CHy 202 CO2 2 HE

CSz 302 CO2 2502

mtg on coat
Hydrocarbon Fbndioxidedwater

Acid Base Reaction

Cl Hyo Ci t Hzot

Icidic

Acid protonforhydrogen
ion donor At

Base proton or hydrogen ion acceptor

C
a I c H

H



donorAt

HCI t HPFtitzhot Acid BaseHt isIggy traded

12 after classification focuses on doubledisplacement

predicting the products of
double displacement

DoubleDisplacement
or

Double Replacement
or

Precipitation Reaction

FITE EFF
NaoHas Feliz

yellowsolutionClear Cleard
with a whiteColorless yellow
Cloudyprecipitate

Clear no visiblesolids
you can seethrough it

Colorless no color



NaXfFeClzq Maclay Felon zcs

3t NILI
Fet of

H g

products
must balance equation

Subscripts

Coefficients

3 NaoHoag t Fella 3NaCl Felony

iNat 43 43
Canbe

of X 3 3
predicted

Fest 1

Cl 3 X 3


